[OH
ﬁéJLL\ﬁ 516
) §

6.5 6ap 5.506ap 5.1 6ap
K rse
3 3 ﬁ K%
N . > » > T3 T3 Q=100 kBt
Prupkynsum 0.1 6ap
KoadhchmumeHT Ha4ana KaBUTaLMHK z 0,5 B6ap 4.9 6ap 5 6ab 5 6ap
JaBneHue HackIWeHUA BOAAHOTO napa Prac 3‘85 Gap ?
Heob6xoauMoe cTaTU4ecKoe AaBneHWe B clo Per 3,00 6a
- . p T4 D@ K T4 Ot rBC
/\l T4
G . Q=20 kBt
T1=150°C ( ‘ 1
P1=13 6ap 136ap 9 6ap 6.5 6ap 6.5 6ap 5.9 6aj 5.5 6ap 5.5 6ap
? J- ? ? ? ? A K pacnpenenurensHomy
~ KOJUIEKTOPY ¢/0
Tl i@ s ——11X Tl r— ' NL i‘N Tl T11=95°
Q=300 xBt BricoTa 3manus 25 m
Pot 0.4 Gap
Y
W3 Tenmocetn v A %
2.5 6ap 4.9 6ap 5.1 Gap 5.1 6ap
i ? ? < ? E OT pacrpenenuTenbHOro
T2 T2 P@ M——=<—T12 . <+— T2 T2 KOJLIEKTOPA
T2=70°C T21=70°C
P1=2.5 6ap ¥



